119" Eigenvector

N, = 4 s=0 mgs =0

Irred. Representation : I's >

2cos (61) VAL

E = —J+U+10W —
119 73

|U119) = [4,0,0,T32)
= Ch,1 (/0022) — [0220) — [2002) + |2200))
+  Chige (|02du) — |02ud) — [0du2) + |0ud2) + |20du) — |20ud) — |2du0) + |2ud0)
—|d02u) — |d20u) + |du02) + |du20) + |u02d) + |u20d) — |ud02) — |ud20))
+  Chigs (|dduu) + |duud) + |uddu) + |uudd))
+ Chga (|dudu) + |udud))

2t cos (61) VA
Crg—1 = t(J+U-2W) - —————————
119-1 ( ) /3
Crigy — 1_12 (4cos? (61) Ay — 3(J + U —2W)?)
1
Cii9_3 = —gt (3(J +U — QW) + 2\/§ COs (91) vV Al)

2
Clig—4 = gt (3(J +U — 2W) + 2\/§COS (91) \/Al)

Nig = \/401219,1 + 16019 +4CF1g 3 +2CT1g 4



